S14 Figure: Concordance between p-values reported by different gene-based association
methods under each simulated architecture.
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AR1 (strong selection); VE per gene = 1%

[l 0.25 0176 BI87 0.1 018 0.2s [ISE 0188 0174 0.64 curo=n
0.28 J§ill0.050.43 0 0.15 (188 0.230.26 0169 0:65 cALPHa
{656 0.05 [l 0:61 0.26 0184 0.06 0I78 0874 0.42 0.42 FrowaT
[0%87 0.43 0.61 il 0.1 0:71 0.44 (187 OI88 0181 0177 «oxc
01 0 02601 illl 02 0 0.10090.040.06 una
(08 0.15 0184 0171 0.2 [l 0.16 0181 0178 0.55 0.55 vt
0.28 (1880.060.44 0 0.16 JJillj0.24 0.26 [0.7| 067 st
[958 0.23 0178 0187 0.1 018 0.24 [ I 0069 0.61 macsen
[958 0.26 0174 0488 0.09 0178 0.2 [l il 071 062 o
(0574 0169 0.42 018 0.04 0.55 [0:7] 069 071 [l 0988 s

0.64 0,65 0.42 0.7 0.06 ------ ST
r4 < = (¢} k5] c o
w I (0] ( > £4 o E ! ll)
= - ]
&z = & 3 5 £ 5 3 2
5 < g £ w
@ oS T

AR2 (moderate selection); VE per gene = 1%
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AR3 (weak selection); VE per gene = 1%
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ARA4 (strong selection; only MAF<1% causal)

I o.> 768 988 0.00 0174 o.> (G 198 977 069 =0
0.2 |Jil§l0.010.850.010.09 @198 0.17 0.19 0.56 0.48 cALPHA
[0%68 0.01 |l 0:56 0.27 0182 0.01 072 0168 0.39 0.42 FrawaT

[0%85 0.35 0.56 [l 0.08 0:67 0.36 0186 0187 0182 0:74 K=+c
0.090.010.270.08 il 0.2 0.01/0.090.080.040.08 unia
[0574 0.09 0182 0:67 0.2 [l 0.1 0178 0:710.530.59 v

0.2 @198 0.010.360.01 0.1 [ill0.170.190.57 0.5 skt
[B185 0.17 0172 0186 0.09 0175 0.17 [ I 072 0.58 macsen
[185 0.19 0168 0187 0.08 0¥7dl 0. 19 [l 0.58

(077 0.56 0.30 0182 0.04 0.53 057 0.72 081
58 042042 0.0 058 05 0155 053 A

& =

g
=4 @
]

BURDEN

CALPHA

FRQWGT

KBAC

madsen
cme

AR5 (moderate selection; only MAF<1% causal)
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ARG6 (moderate selection; bi-directional effects)
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